SME | AL IR Ag=s | mmaY | ouels | ZE
B =S APRA 2T |H™D = 9
Smjaict 017-04-24 (-1—)4_1'__.% H= fs | 30,0002 T 000% st
09:20 (MB=2at=2 CHod % 3¢y
- =) e CHEA 37|87 £2 0002
om|zlct 017-04-24 (T)E_LTJ l | 19,5002 i 0002 st
09:21 (MB=2at=2 CHod % 59




[0

WAL | EHIA AM=x | IESY | uel | R




A4EE SYOBISHl WY

O 71#FANE - Loz

SNY | EHUA S PIES Fyss | Zuze | el | AR
20174 H7|39
2017-04-06 J2molE <3X| = EH> &2 0009
H|2bzt = 19,800 _ 7=
e 17:06 (BT M3 =) AR & = 29
SXE BR7
AR — 20174 H7|134
MEMAHMH S i
T 2017-04-19 4] <A+ag€_| Zo 10,000 7I§I_oooﬂl S1=
15:28 . ol 3 HyaA ’ & 24
('c'?i:ll AHT'_‘H_E) o|el
20174 H7(39 -
_ M|o “'ff 1% 00024
omag | ATOMHM | OE o mees | oo | HO0T | e
12:16 (_c'?i? o"l‘o) %—?_J XI__E_ = 29
L 20174 H7|3 =
e =9l% 712 000%
omeye | DB | EEMA ) T ommses | s | U000 | se
1223 (6‘%; APSIE) EEE’S ‘5159— = 20
2013, 20144
017-04-25 ofo|glo|A 2= <2} olg|d|> =2 0009
|2}t i =
il 20:29 (B2 MBUY=R) Yaxiz A 9,80 z 29 }
Z20 QF
. 20164 M7|3A .
017-04-26 Eerd et <gho| 22 &5 0009
|2t 27,000 ) IIE
= 13:01 (BET 3214 do2%> ’ % 29
Yaxlg @F
O FNMAZRE TAARRITH | o AEZHA EEF HITA HE




